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6. Answer the following questions:
a. What happens when a freshly precipitated Fe (OH); is shaken with a little amount of dilute

solution of FeCl;?
b. Why are lyophilic colloidal sols more stable than lyophobic colloidal sols? (1x2)

7.a. Why are depressants used in Froth floatation?

b. What is the role of silica in the extraction of copper? (1x2)
8. A complex prepared by reacting CoCl; and ammonia does not precipitate silver chloride with aqueous
AgNO; reacting in equimolar amounts.
a. Write the structure of the complex. ” o
b. What type of isomerism does this complex exhibit?
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- Cu (I‘) How will the elctrons flow?
(l‘) 1y which direction current flows?
(i) Which metal will be dissolved?

(Iv) Which metal wlll be deposited?

ons for the disproportionation reaction of orthophosphorus acid.
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b. Draw the structure of a noble ga
c. Why Is Ka; << Kay for H:S0, in water? (1X3)

22. a. Explain on the basis of valence bond theory that lNIlCNM" {on is diamagneticis but the (ML)

lon Is paumngnetlc.
b. Write all the jsomers of |

crchslox):)’ - (241)
hey saw @ chimney

ited their uncle working in a factory. Near the gate t
to talk to the owner of

ked their uncle that they want

23. Meenu and Sheena vis
Y throwling out black fumes of carbon. They as
the factory about It.
a. What two values are shown by the two girls?
b. What harmful effects would these black fumes cause?
¢. What should the owner do to avold the carbon particles In the exhaust?
d. What type of colloid Is smoke? (1x4)
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